S 3FE 10 AFR

=y =ES=0
mEwe | O A RIHFR

FERE| 0 BORLER (FEL) | B
4

9 AN SOIERMER

- S O S
10 BORLEE (F&EHL) 0 %
| SEEQRESOERE ()
FERODIEHL :
AaER
SHA & SEEDHERS
—— 20214
15 ————
| it #E
;'% ) ", \\
# 05 // \
F ’ \~s\} R ‘\I
4
,, \\~{’I
0 I 1
9 10 11 12 1 2 3 A
FARSH = (SR DREHTS

- FA(FIHER 1 33.3% (FFE : 27.8%)

BEBRDINA >
- BiEXRICO—-YY—-FThLZITD.
- B RZRBRT D2, B ICHEIZUIET D,




S 3EE 10 B¥FR
YE4D TESEU Hhigg =EhLiiS
HEREZ | Q) *AF1UEH>SrS2I1\IF - 4RI D)
AERR| 9 AoR4ss (IFEH:) i
o | 0P EOm i 7 s
% ""-"""""""""""""": ---------------------------------- X DAINR: =
10 Aot (FEL) | il
L SHEZROEEORESOWRE (1)
FERODIEHL '
AEER
SHE FFEDHEFR 11BE 2 FDHER
15 1 —e—2021% 15 —A— 20194
—==-FF —A—2020%F
§10 IR 1% i . S10
% ”, - = '|§i*'
i . "
a0 ’}/ .
0 —i'”"T/ 0 : ' : ' '
9 10 11 9 0 1112 1 2 B
}45‘1'7*E(,L\$E><)0)%$#E$§ AMFAIREHE)DFEHES
ESYITREB (A>>vI>014)\X]F) oY ITHEB (13 ~J)
80 1 —o— 20214 5 - —— 20214
n —==-FE N -———-Ff
60 | I somE R 4 - | iEEE
S < 3 r
& P
g B ﬁ“‘z - I—’}’{
£ = =
20 - j L
gé( ’/} ]: % 1
*3 0 %20

1 2 3 4 5 6 8
73//14//74/\7#(#7/7)@%&#&#5

9101112;]

| - ERNFEFSE  15.0% (PHE : 22.2%)

12 3 4 5 6 7 8 9 10 11 12

4RIV DREHT .

BEBRDRA > b

MEL TSN ZERECSBEZMIESE D,

- SMEUTZHR (G, EEDEHINSTEICEH LR, LSO PRENSBAL. ERRZ

- B (KD TN ZRLE VB ZEZHR T D72, BINS ICEBHHADKRZHRIES 5.
- ([FZANDA FRIME(IRERERDIZHIRET D,
- AFDOBE(F. BEHANICERDNEBEALEZEITDLDCTECEHMNT D, MBEIDHZE(F. EEE
TS (CE UBERIPBUKZF (C K DFfESE. BEHNEINZSESE D ETHRMIRNEES.
- HER A VT B R OME 5 (C TIRERDBLFRZ FAQTZZEEI (KIF] ) 28R UKER 9 5.




